

CALCULS ALGEBRIQUES

Calculer en enlevant d'abord les parenthèses, quand il y en a.

$$I = 2 - 3 + 4 - 5 + 7 - 3 + 4 - 5 - 6 + 7 - 3 + 8 - 4$$

$$J = 5 - (+6) + 7 + (-8) - (+9) + (+7) - 5 - 6 - (-7) - 4 + (-8) - (+2) - (-4) - 5 + 6$$

$$K = -12 - (10 + 5 - 4) + (4 - 5 + 6) - 8 - 10 + (4 + 7 + 9) - (-6 + 7 - 3) - (8 + 5)$$

$$L = -2 + (-5 + 6 - 7) - 8 + 4 - [(7 - 6 + 5) - (8 + 4)] - [5 + (6 - 8 + 4)]$$

$$M = 3 - (2 + 3 - 5) + (5 - 3 + 4) - (-6 + 5 + 3) - 8 + 10 + (-3 - 8 + 4) - (5 + 6)$$

$$N = -4 - (2 + 3 - 7) - 4 + 3 - [(3 - 8 + 5) - (4 + 5)] - [4 + (5 - 3 + 8)]$$